
Answer on Question #69832-Physics-Mechanics-Relativity 

Two forces are applied to the construction bracket as shown. Determine the angle which makes the 

resultant of the two forces vertical. Determine the magnitude R of the resultant. 

 

Solution 

The magnitude R of the resultant is 

𝑅 = √(𝑅𝑥𝑦)
2

+ (𝑅𝑧)2 = √(300)2 + (375)2 = 480 𝑁. 

𝑅𝑦 = 300 sin 70. 

sin 𝜃 =
𝑅𝑦

𝑅
. 

The angle which makes the resultant of the two forces vertical is 

𝜃 = sin−1
𝑅𝑦

𝑅
= sin−1 (

300 sin 70

480
) = 36°. 
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